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Divide the Area into Either Horizontal 
or Vertical Strips
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Divide the Area into Either Horizontal 
or Vertical Strips

𝑑𝐴 = 𝐺𝑑𝑦

𝑥̅ =
∫ 𝑥̅/0
8
2 𝐺𝑑𝑦

𝐴

𝐴 = 3 𝐺𝑑𝑦
8

2

𝐶
Cel

𝐺(𝑦)

𝑑𝑦
ℎ

x

y

𝑦" =
∫ 𝑦"/0
8
2 𝐺𝑑𝑦

𝐴

𝑥̅, 𝑦"

𝑥̅/0

𝑦"/0



x

y

Example Problem
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Find the x and y
coordinates of the 
centroid of the shaded 
area with respect to the 
coordinate axes shown.  
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Divide Area into Vertical Strips
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Find the x Coordinate of the Centroid
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Find the y Coordinate of the Centroid
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Coordinates of the Centroid
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Result Agrees with the Tabulated Value for a 
General Triangular Area in Textbook


